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Topic: Probability 

Section 1 
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ENGAA S1 2020 - Question 4

ENGAA S1 2020 - Question 4 - Worked Solution 

116 11618
 

   

Answer is A 

           =  +          =  + 𝑃(2) × 𝑃(3))2(× 𝑃)3(= 𝑃)5(𝑃 
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ENGAA S1 2018 - Question 27 - Worked Solution 
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Answer is B. 

                    =                     = 1 −  ]×+                   = 1 − [  ))1 𝑔𝑟𝑒𝑒𝑛(+ 𝑃)𝑧𝑒𝑟𝑜 𝑔𝑟𝑒𝑒𝑛(                   = 1 − (𝑃  ) 𝑎 𝑟𝑜𝑤𝑖𝑛 𝑙𝑒𝑎𝑠𝑡 𝑡𝑤𝑜 𝑔𝑟𝑒𝑒𝑛 𝑎𝑡(= 𝑃)𝐶 > 𝑅(𝑃Child takes move green than red it takes at least two green in a row 

 

 

 
ENGAA S1 2018 - Question 27
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ENGAA S1 2017 - Question 23

ENGAA S1 2017 - Question 23 - Worked Solution 𝑥4 + 𝑥 𝑥 − 14 + 𝑥 − 1 13

 

 

 

 

 

Answer is C 

 𝑥 = 6  )𝑥 ≥ 0( − 1       𝑜𝑟⇒ 𝑥 = 6     = 0)𝑥 + 1)(𝑥 − 6(  − 5𝑥 − 6 = 02⇒  𝑥  = 012𝑥 −10−2⇒ 2𝑥  2+ 7𝑥 + 𝑥12− 3𝑥 =2⇒ 3𝑥  )3 + 𝑥)(4 + 𝑥(=)𝑥 − 1(⇒ 3𝑥  =×=)𝑚𝑎𝑙𝑒(𝑝 
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